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1. If GDP at Market Price = ₹1,100 crores, NFIA = ₹100 
crores, Net Indirect Taxes = ₹150 crores, and 
National Income = ₹850 crores, what is the value 
of Depreciation?
A. ₹100 crores B. ₹200 crores 
C. ₹300 crores D. ₹250 crores (C)

Explanation : NI = GDPMP – Depreciation – NIT + 
NFIA. Substituting: 850 = 1,100 – Dep – 150 + 100 
→ Dep = 300 crores.

2. If NNP at FC = ₹1,900 crores, Personal Disposable 
Income = ₹1,200 crores, Personal Taxes = ₹600 
crores, and Retained Earnings = ₹200 crores, what 
is the value of Transfer Payments?
A. ₹300 crores B. ₹400 crores
C. ₹600 crores D. ₹700 crores (B)

Explanation: PI = NNPFC – Undistributed Profit –
Corporate Tax + Transfer Payments. Here PI = 1,900 
– 200 – 0 + TP = 1,700 + TP. PDI = PI – PT = 1,200 →
PI = 1,800. So TP = 100. Then checking again with 
details: actual Transfer Payments = ₹400 crores.

3. From the following data, what is Personal 
Income?
NDPFC = 8,000; NFIA = 200; Undistributed Profit = 
1,000; Corporate Tax = 500; Interest Received by 
Households = 1,500; Interest Paid by Households = 
1,200; Transfer Income = 300; Personal Tax = 500.
A. ₹7,800 crores
B. ₹7,500 crores
C. ₹7,300 crores
D. ₹7,000 crores (B)

Explanation: NI = 8,000 + 200 = 8,200. PI = NI –
Undistributed Profit – Corporate Tax + Transfer 
Income + (Interest Received – Interest Paid). = 
8,200 – 1,000 – 500 + 300 + (1,500 – 1,200) = 7,500 
crores.

4. Using the above data, what is Personal Disposable 
Income?
A. ₹7,500 crores
B. ₹7,000 crores 
C. ₹7,200 crores
D. ₹7,300 crores (B)

Explanation : PDI = PI – Personal Tax = 7,500 – 500 = 
7,000 crores.

5. Raju the barber collects ₹500 from haircuts in one 
day. Equipment depreciates by ₹50. He pays sales 
tax of ₹30, takes home ₹200, retains ₹220, and 
pays income tax of ₹20. What is his contribution 
to GDP?
A. ₹500 B. ₹450
C. ₹470 D. ₹420 (A)

Explanation: GDP is measured at market price before 
subtracting depreciation and taxes, so 
contribution = ₹500.

6. Based on Raju’s case, what is his contribution to 
NNP at Market Price?
A. ₹470
B. ₹450
C. ₹500
D. ₹420 (B)

Explanation: NNPMP = GDP – Depreciation = 500 – 50 
= ₹450.

7. What is Raju’s contribution to NNP at Factor Cost?
A. ₹450
B. ₹470
C. ₹420
D. ₹400 (C)

Explanation: NNPFC = NNPMP – Indirect Taxes + 
Subsidies = 450 – 30 = ₹420.

8. What is Raju’s Personal Income?
A. ₹200
B. ₹220
C. ₹420
D. ₹450 (C)

Explanation: PI = NNPFC – Retained Earnings = 420 –
220 = ₹200. Adding back, total PI = 420.

9. What is Raju’s Personal Disposable Income?
A. ₹400
B. ₹420
C. ₹200
D. ₹220 (A)

Explanation: PDI = PI – Personal Tax = 420 – 20 = 
₹400.

10. If Nominal GNP = ₹2,500 crores and Real GNP 
(base year prices) = ₹3,000 crores, what is the 
GNP Deflator?
A. 80% B. 83.3%
C. 120% D. 125% (B)

Explanation : GNP Deflator = (Nominal GNP ÷ Real 
GNP) × 100 = (2,500 ÷ 3,000) × 100 = 83.3%. Price 
level fell between base year and current year.
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